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LOGIC AND PHILOSOPHY

Full Marks : 100
Pass Marks : 30

Time : 3 hours

The figures in the margin indicate full marks for the questions

ALLOTMENT OF MARKS

Q. No. 1 carries 1 mark each 1x12 = 12

Q. Nos. 2-13 carry 2 marks each 2x12 = 24
Q. Nos. 1423 carry 4 marks each - 4x10 = 40
Q. Nos. 24-27 carry 6 marks each 6x4 = 24

Total = 100
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Answer the following as directed : 1x12=12

oo TR RetiepiiR Tes e

(a) Logic is a positive / normative science.
( Choose the correct answer )
TFiere Y / S Reem |
(% TBIH! MR Tferear )

(b) The sign of relation between the subject and the predicate
terms is known as

( Fill in the blank )

ST o W Re o e 191 TP e 3 =
T |

(R 3 7[ 3¥0)

(c) State one advantage of the use of symbols in Logic.

THRTITS ARIF JATTT @bl R TeE 790 |

(d) ‘O’ proposition distributes subject term / predicate term.
( Choose the correct answer )

‘O’ 350 Broen o / Regw om WY T |
(&% Tawh A ey )

(e) What is the position of middle term in the Second figure of
a syllogism?
9B1 TRA FOR AKES (FPoE SEH R 2
(f) ‘Not’ (~) is a logical constant / propositional variab]e.
( Choose the correct answer )

TR (~) b1 o SRR / TS RS |
(Q‘%Mqﬁmﬁm)
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(g) DARII is a valid mood of First / Second / Third figure.
( Choose the correct answer )

DARII 2129 / 728 / $om g (34 18 1
(o= Te0h 1R e )

(h) Under what condition, a conjunctive function becomes true?
R 7% b1 AT T TO W2

(i) How many Vedic systems are there in Indian philosophy?

SR T (321 (A TR IR 2

() “Mind at birth is a clean slate or tabula rasa.”” Who said this
statement?

“wmwwmawwﬁﬂ@mw#mmn”qﬁ@m
(feet 2

(k) How many Pramanas are accepted by Indian philosophy?

TR TS (B! AN TR FIA W ?

() According to Idealism, the object of knowledge has- its
 existence independent of mind. Is the statement true?

SRAVE WO, WY REE T oF Fogoid SfiEee | A/

51 7 L
2. What is material truth? Give example. 1+1=2
e STorel [ 2 Swregd frar |
3, Define negative proposition with example. 1+1=2
SIEIPTE 7S o e il |
[ Contd.
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4. Define singular proposition. Write an example of singular
proposition. 1+1=2

RMAB o9 g o | RNB o7 9B Swrger e

§. State two characteristics of Deductive Inference. 2

A= SRImE 451 ¢3Sy Sea) 4 |

6. What is immediate inference? Mention any one kind of immediate
inference. 1+1=2

I S I QI 7 A SRR I 961 2P Sra

7. Write any two general rules of pure categorical syllogism., 2
wifi fRacers sRE R e o1 ST B fors

8. Write two valid moods of Third figure. 2
TR IEI 0! ¢34 YET A for |

9, State any two characteristics of symbolic logic as laid down by
C. L. Lewis. 2
f5. Wiz, oXE ARCER [ AP TR R wwan w1 cafy
T 40

10. Symbolize the following propositions : 1+1=2
TS Tl IOICFRD! AV oIS 2P 41

(a) The weather is bright and sunny.

IOCH! Togel oI TP |

(b) If it rains, then the crops will grow.
Tt 7Y Wew, (0@ P 1| 79 |
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What is innate idea? Give an example of innate idea. 1+1=2

e q9el 7 2 Igeie (R «br Suregd

State any two points of difference between Philosophy and

Science. 9

o S REe Trore 131 R I 151 (g SrE) 40

Mention any two characteristics of idealism. 2

SIRAVA R @I 1o1 (IS Seay 40 |

Explain the nature of Copula. 4
ST T TRA 901

Define proposition according to traditional logic. State two points
of difference between sentence and proposition. 242=4

SRS SHRIEH SPIR o e el | IR A oo TS & !
of12f3 TTEY 0 |

Reduce the following sentences into strict logical form : 4
©oTq AFPIEF SHREPTIS I5Ca el 1

(a) Any student can do this.
R o TR G PRI AT |

(b) All good writers are not good speakers.

A Ol (F1F O I&! T |

(c) Men are seldom happy.
T e A A |
(d) Virtuous alone are happy-

@9e QR T |
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17. What do you mean by distribution of terms? Explain. - 4

M el Jfereat R o 2 v ¥4 0

18. What is middle term? Describe the role of middle term in
a syllogism. ' 1+3=4

(RPM IR Q@I ? S (FgoE Pl [, 361 341 |

19. Reduce any one of the following syllogistic arguments into logical
form and test its validity : 4

iR Tr SEEPRRT R @ @B SHReETe 90 Ras 3
I WY (35t Py 4

(a) Plato was the teacher of Aristotle. Socrates was the teacher
of Plato. Therefore, Socrates was the teacher of Aristotle,

ettt kBT Pres 1 Rewitr (IR e 1 oS Taity
<8 B s |

(b) He must be a coward, because he is dishonest ang all
cowards are dishonest. :

(o8 fPa FIFT, I (06 PIY T FIFCR WY |
20. What is pure categorical syllogism? Describe the structure of pure

categorical syllogism. 1+3=4

o FRCoT TR 1P (10 2 SR P R 910 3oy 35y |

21. Write a short note on metaphysics. .

wRRm e «ft 5 it s |
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22. Explain any two characteristics of Indian philosophy. ' 4
sRow ™ R I 701 ¢y i 3w |

23. What is Pratyaksa? Explain different forms of Laukika Prat)}aksa
(ordinary perception). 1+3=4

2FOTF I (A ? GRS arore Rfn ez <1 1

24. What is Logic? Discuss its nature. : 2+4=6
SR PP (@R 7 TR FH WA 47 |
Or /9311
What is simple proposition? Explain different forms of simple
proposition with examples. 2+4=6
A A IR QACA? A /o [fed dENE W St
391

25. What do you mean by modern logic? Discuss the relation
between modern logic and traditional logic. 2+4=6

A SIRE Fra B @2 AMFET HReE wF cmree
SPRET e FT==F Ao F40 |

Or /931

What do you mean by general proposition? Explain different
forms of general proposition with examples. 6

g 4 e & e 2 e o Rfew aerenR Snewa Gie
0 F9
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26. What is truth-function? State the name of its basic forms by
giving truth tables for each of them. 2+4=6

Tol-Fo FIF Q@A ? WH T PPN AN SEd T AT AT
o), SIferp! 2RS4 |

Or /921

Construct truth table for any three of the following propositional

forms and determine whether it is tautology, contradictory or

contingent : 2+2+2=6

T A TG AR [ R e fSReR e oifer o
F ERETE FosTe), Fosf (1 wiie TMRME Mo <

(i) pDpvg

(ii) (p-q@)op

(iii) (p-q)-(pv q)

(iv) ~p>(p-q)

27. What is empiricism? Explain four characteristics of empiricism

2+4=6
SRS P (JI0e1 ? SfSTwORME HIfR61 (e I 1 |
Or /9341
What is realism? Mention four characteristics of realigm 2+4=6

IRIAM I (I ? BT HifvT (38 Srme =1 |
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